SP / CP questions

(also P/L in terms of SP and CP)

Concept Lecture -4




The ratio of S.P to C.P is given below. Find
the gain or loss %:
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The cost price of 36 books is equal to the

- 20 SP selling price of 30 books. The gain per cent is:
36 CP=3 36 TEIPI H HT HeT 30 TEdd &
2g _SP ﬁwn—qa;wflmaqﬁ’ramm
320 C
30 CFP \,zr(zO% b) 16 %
c) 18% d) 82 %




If S.P.of 9 m cloth is equal to C.P of 12 m
cloth. What is the gain or loss %?

IfE 9 mFYS FT S.P,12M&FIS & C.PF
SUET &1 A1 AT 1A% FAT &2
a) 25% loss b) 25% gain

33.33% gain d) 33.33% loss
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100 oranges areror Rs.350 and
at the rate of Rs.48 per_dozen. The

percentage of profit or loss is:
SP )*S’xé?‘ 100 HaX 350% & @O o § 3w 48
/t%x%é?? ¥ ufd goir 1 @ & I AT §1 oo
7%\ 1 gifar % AT hifS:

d a) 15% loss b) 15% gain
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If 1 would have purchased 11 articles for

Rs.10 and sold all the articles at the rate of
[ IR 2 10 fo @ the profit % would have been:
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a) 10% b) 11%

\y))Zl% d) 100%
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Ravi buys some toffees at 4 for Rs.3 and
sells them at 5 for Rs.2. His loss % is:

Tﬁwaﬁm 3TqA A4 & gue @
wiear ¢ 3t 37 2 T #5 & Ruw
& d9ar ¢ 3HHT JHARY 8

46.66% b) 53.33%
c) 30% d) 60%




A fruit seller buys lemons at 2 for a rupee and
sells them at 5 for 3 rupees. His gain % is:

Th Gl Al 1 X H 2 & o @
i @ligar § 3R 3 T A 5 F REw
& Suar ¥ IHET A% T

a) 10% b) 15%

\/)/20% d) None




A milkman bought/ 70 litres Jof milk for
(P = [Rs.630)and added5 litres/of water. If he sells

it at Rs.9. 00 per litre, his profit per cent is

guare o 630 $UF H 70 e
SP JZX,OI/ aﬂasﬁtsmqﬁﬁmﬁmlﬁg
- ;/59+| F g% 9 FIX U oflex M AT fr &
CP £330 Y ¥ Jgar &, ar e yfawd A X
T 2 a) 8% b) 7%

0 829% SH72%




@ man buys a certain number of oranges at 20
for Rs.60 and an equal number at 30 for

SF ,6‘6'7( 2 2 Rs.60“ He mixes them and sells them at 25 for
Y-/ , : ,
) Rs.6(ﬂ What is the gain or loss per cent?

cp .'zfsx/‘z'{ 25 UF Safad 60 T H 20 TR & N § F6

HaY T 3a & @R 60 T A 30 #r &
¥ @ligdr g1 98 37 TRI F Aa 60
T H 25FaY T g7 & &9 &ar g1 ar Ay
Sl a1 g1 F1 yfdera s a fifode
£ a) Gain of 4% \,Iw){oss of 4%
}B" -5 c) Neither gain nor loss d) Loss of 5%
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@ome toffees were bought at the rate of 11 for

Rs.10 and the same number at the rate of 9 for
Rs.l(ﬂ If the whole lot was sold at one rupee per
toffee, then the gain or loss in the whole
transaction was

waﬁm’raﬁrm T A 11 A T @
Eﬂar ﬁtmaaﬁa’raﬁr 10 ¥

\j?aﬂ oTeT AT mﬁr A Fifor:
loss of 1% b) gain of 1%

c) neither gain nor loss d) gainof 1.5%




The cost price of 20 articles is the same as

20 CP= 1 SP the selling price of x articles. If the profit is
25%, then the value of x is:
SP o 20 TEHT FT HFT Hed x TEIT F
20 .1 =_2 ﬁn—zra:w%lmam%%%
— P Y ar x FT AT F4T ¥7
a) 25 b) 18 d) 15
Sp._
Cp ‘4




If 7% of the sale price of an article is equivalent
77/ SPp= Bz C P to 8% of its cost price and&)% of its sale price

/—\7 exceeds 10% of its cost price by Re. 1, then
_S_E Koo %lwhat is the cost grice of the article?

cp 700 _To I Pl avq & T qoq &1 7% 30qF
o, 9 Aew & 8% % T § AR gk Awa
a—am9%manru—zra:10%#1r
m%a’rarcr a»-zrn—ermg’mr?
Uu— 12 a) Rs.400 Rs.350
¢) Rs.300 d) Rs.280
Toow — 3D 3
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On a certain item profit is 150%. If the cost
price is increased by 20% and selling price is
decreased by 20%, what will be the new profit
(in %)?

frelt ey avg o amnr 150% ¥ | IR
AeE 20% ¥ o § 3R Rww waew
20% TE ST & ar ar Far o (%F )

FIT B9 ?

_3766.66% b) 0%

c) 166.66% d) 33.33%




P A man sells his goods at a certain price, 20% of
which is his profit. If the price at which he buys

the goods increase by 10% and he sells them at
0
§ g ‘ 4; x_],_e_g— 9\75 +E.an 8% higher price, then what will be his profit

ercent (correct to one decimal place)?
><l 1¢ ) el place):

UF i A9 A B O AT W A"ar
Qazl%mm% T WRT twar ¥ 97 B
Aed W AT @lSdT 7 IfE 387 10% &
,_=3\9\ g @ o ¥ 3R T 3w oA A AR
8% 3 Hed W 9 qaT § A W wmer
gfaerd &1  ghem?
a)21.8 b) 23.4
¢)21.4 \¢f22.7

| SSC CGL 2018 T-2 | 15



Sudha sold an article to Renu for 576 rupees at a
loss of 20%. Renu spent a sum of 224 rupees on
its transportation and sold it to Raghu at a price
which would have given Sudha a profit of 24%.
The percentage of gain for Renu is:-

HﬂTFTi'FI'EFTWWZO% gifa @ 576

rrﬁ ﬁtsﬁqﬁwmw
zﬁnﬁmﬁa T & 24% T TH YIS T
gian| ¥ F forw amer 1 gferera A ?

a)13.2% ) 11.6% ¢)10.5% d)12.9%
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If the selling price is tripled and cost price
doubled the profit would become 65%.
What is the present profit?(%) -
afe fashr &1 e dier qom B 3R e
e g AT 65% & STuem HrsTar

AT FAT 2(%)
a) 20 b) 15 c) 25 \}ﬂ{O

| SSC CGL 2017 T-2 | 17



A fruit-seller buys x guava for Rs. y and sells y
guavas for Rs. x. If(x > yJ/then he made
FNS GT AHFaAT ¥ © & X 3¥AGS @lear &
IRXFTAY AT AT 3R X >V &
ar 39 g3

2

2 2
X4 - P o
Y_ % loss b) xyy % gain

2_,2 2_,2
x°— - .
c) yzy % loss @% % gain

a)

| SSC CGL 2011 T-2 | 18



If a shopkeeper purchases a certain number
of items for a certain sum and sells a
fraction of the said number for the same
amount, then his profit is 300% what is the
fraction?

|SSC MTS, 2 Nov 2021, 5319



Re/ SP=Ilov7. CP

Sf _ lgp n+t»
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If a person sells 80% of the number of toys for
an amount with which he purchased all the
toys, then what is his profit percentage?

Ife F$ FfFa 80% @AY & 39 A=
W a=ar B, o W 3ue weht el @il
g, ar amsr gfaera A fifs)

a) 20 b)22.5 \ef25 d) 40

|SSC MTS, 12 Oct 2021, Sé 0
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A person purchased 40 items at same price.
He sold some items at a profit of 30% by
selling them at price equal to the cost price
of 26 items. The remaining items are sold at
18% profit. The total profit percentage is:

UF AfFT F EAR AT W 40 TET

Eﬂﬁlmaﬁsaﬁraﬁaﬂso% ¥ A

9T 26 an-—craﬁa?anrna;wn
R u R & R o aa-—craﬁ F 18% F T
2 WWW|§~E§GIT3T§I%QHW%7

a)27% b) 28% c)25% \9)64%




1 A merchant makes a profit of 20% by selling an

SP,_._ /g/x “¢ :?_\_'2.)"'7 article.\What would be the % change in the

@ 5 X 3¢ 15 m had he paid 10% less for it and the
customer paid 10% more for it?

TF SR T g P d9hT 20% HT T8

. - FATAT g I 38 39 a&q H 10% &A

M..: Kﬁ/’——q—ﬁ’fwmﬁ@ﬂamsﬁtm%#W#

i nvhof x| 3 ] A 10% 30F Fqea W @ligr gar a

&) IqF A & % IRGdT AT FY

a)120% b) 125%,@133.33% d) 462 %

| SSC CGL 2015 T-2* | 22



Profit or loss in terms of SP or CP:

23



By selling 100 pencils a shopkeeper gains the
selling price|of 20 pencils. His gain % is:
Sp= 100 16%%&?@'{@@20@?

¥ faFa AT FT N FAGT B 3HET

_ qTHY &
P=20 25% b) 20%
CP= R8d c) 15% d) 12%
1 P.omU'tR, 2 = |<




By selling 33m of cloth Ramesh gained the cost
price of 11m. The gain % is:

HUST dTHT (AY o 11 HeX F9s

CP=3%% HT AR Hed FT IS FAIT| Y &
Ny a) 10% 33.33%
P= ¢) 25% d) 50%

SP= X @ cp= 12

| | 25



By selling 36 oranges a vendor loses the selling
-— L = price of 4 oranges. His loss % is:

36 G a9 & TH fashdl & 4 TR &

T Ao & W g@fa dr 81 39T

2CP-YSP = 26SP @ % &
a) 12% b)11§%
Q C/P ('105 P d) None
ez

l| Q




12 copies of a book were sold for Rs.1800/-

= —_— . o ——
@ + P @ thereby gaining cost price of 3 copies. The cost

price of a copy is:
T s 67 12 9faar 1800 & I IS,
|2 CP+3P=j25 p TIEd 3 Sfll & omre ew & auad o
g3l af oF 9fy &1 dera :H—zr AT
s Rs.120 b) Rs.150
CP-IZSP [SJD ¢)Rs.1200 d) Rs.1500

—..

1® =120

| | 27



On selling 17 balls at Rs.720, there is a loss
equal to the cost price of 5 balls. The cost
,l?CF—‘Sq),: 1SP=120 price of a ball is: . o
2P 17 3T Y Rs.720 H I° W, 5 &l F
! AN Hed & e e e ¥ ar
f g ¥ T qFT B AT W
J¢gp= 6o a) Rs.45 b) Rs.50
_Rs.60 d) Rs.55

Un dusstomdan Qo Univesigal)
oot Retoinabte




25 CP +5:5p= 25-5P

25CP = 29SP=2D0D0
SP=IQ00

Mohan bought 25 books for
Rs.2000_ and sold them at a
profit equal to the selling price
of 5 books. The selling price of
one book is

AT o5 2000 ITIT H 25
gEad  @idr AR 37 5
TEaH & eT qed &
WEX oI FAT gC AT
Ramat & qFw # RAEw
:H—zr?n?-ra»‘t

s.100 b) Rs.120
c) Rs.150 d) Rs.200




26 CPtlspP= 36SP

26 (L=26-SP=104D
15P=Mo &
5572003

Sulekha bought 36 kg of sugar for_1,040.
She sold it at a profit equal to the selling
price of 10 kg of it. What is the selling
price for 5 kg of sugar?

gordT, 1,040 # 36 kg it @dadt §
gg W@l F 10 kg e F WEFT AT
¥ @ ST W A= 8 5 kg

&1 FT 77 (3. A) 99 Y

a) 235 b) 215

¢) 220 %oo

| SSC CHSL 2020 | 30
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